A #K
QOERT— I ERMATERZA : TR /MR
FRA ATt H26 5 FE 3= 4&

BE—INFRR HABR T ERET 1349 1 1
B INER ¥ABR T iE S BT633 & i
BE=INFR HARR T P8 2 FE T 1502 3 ®)
S IH/NERR FA B v Bk FH BT 428 & 3th4
ERINER BRI ARET2768 1 ©)
FINVER H B T B ET 11982 1h2 O
T /NERR HaBR )| FHT 3802 3 1 @)
FEFINER MR TR FHT26 %
BT 3 /N AR HABR /NI 3R BT 3325 % 1h
4 IR VAR HABR T HAIRH T 751 & h2
BINER PR T ARHET 168 i
REE/NER ¥R T 1E N AT 6 2 30 1
7RI/ HARRTH P8 R AR ET 7138 1h 1 ©)
HRRNFER HARRT 7SR AT 168 1h 1
FHARINER HABR T K= EHET 1958
TULVKINVER HARRTH 2[R ET 11202 30 ®)
BRANER ¥R B EET207 8 10
TERE/NFRR AR KB EHETT57E
ME/NER FARRTH FHA4E SFRTH66 % b ©)
KA RNEAR FARR T R IEHT 17752 i
/N HARRTH /N EFET945% b
SHF1/NEAR HABR T 5 FNETO5 72 3 1
= L/ NVEERR AR T SEHT 1 Z 3
BRI HaBRT )T 19784
SN YARR T IE Fr 4E 2 BT 2292
BNV AR TEEEF ) I ET 1057 b
SH/NER YRR TIEET )1 AL BT 1338% 1h2
B R /N AR 4E By EH AT RT 4435 3
RB/NER KBRS E RT 208 1
ERINER BT & RET 774851
INEFITINEARR B T S ARET 2798 b
K/ EINER HaBr i /NEF T HT 3553 Hh
i EFNFAR ¥R T SR R ET R EF 3688 & ith
o RN AR BRI AT 5K R 3969 & i
FINER PR AR S BT 181085 12
BRI HARR T B = BT = AT 10222 3

= T#

[ 150053 ]



